MPSC Set No. 1

Objected

Nature of Correct
Question Objected Question Choice A Choice B Choice C Choice D L Explanation
Objection Answer
Number
Which renowned Indian social reformer and As per the
independence fighter is from Maharashtra  [Vinayak Damodar |Dr. B.R. Ambedkar| Jawaharlal Nehru | Mahatma Gandhi p_ L.
3 X . R candidate Question is wrong. Bonus
and is best known for his involvement in the Savarkar Lestion is wron
Quit India Movement? q g
On February 18, 2021, the Mars 2020 Perseverance
rover and Ingenuity helicopter success- fully landed
inside Jezero Crater. At 1026 kg, Perseverance is the
Mars largest, most sophisticated rover ever delivered to
Which event marked the successful entry, Mars 2020 . Mars InSight As per the 8 P . R
X , Mars Odyssey o Reconnaissance . K another planet. This event marked the ninth successful
5 descent, and landing of NASA's . Mission i Mission candidate K . R B
Perseverance rover on Mars in 20217 Mission Orbiter question is wrong landing and fifth rover to be delivered at Mars. The
’ Program to Optimize Simulated Trajectories Il (POST2),
a trajectory simulation tool, was the prime entry,
descent, and landing (EDL) performance simulation for
Mars 2020.
As per the Putting Maharashtra in the question is making it a
Which city in Maharashtra hosted the 2023 Nagpur Pune Mumbai p‘ € . 9 g
8 ; Bhubaneswar candidate wrong question and Bhubaneswar - Rourkela is the Bonus
Men's Hockey World Cup? L
question is wrong|correct answer.
As per the 108th Indian Science Congress will be held from
Which Maharashtra city was the venue for Nagpur Mumbai Pune _p . 8 X .
10 . R Kolhapur candidate Bis [January 3-7, 2023 at R.T.M. Nagpur University, Nagpur, Bonus
the 2021 Indian Science Congress? K
correct option |Maharashtra.
Who was the country's first governor . . . As per the . . L L
C. Rajagopalachari| Jawaharlal Nehru | Rajendra Prasad Putting Maharashtra in the question is making it a
17 general with Maharashtrian heritage after lagop ) Dr. B.R. Ambedkar candidate € R q € Bonus
) . wrong question.
independence? question is wrong
) ) -, ) ) ) . ) As per the . ) Lo L
Name the first Prime Minister of India who Indira Gandhi Morarji Desai | Jawaharlal Nehru . K Putting Maharashtra in the question is making it a
21 V.P. Singh candidate R Bonus
belongs to Maharashtra L wrong question.
question is wrong
Wrong question: The Battle of Purandar was fought
1665 between the Mughal Empire and Maratha
Empire. The Mughal Emperor Aurangzeb appointed Jai
Singh to head an army against Shivaji, and he was
assisted in his campaign by other Mughal commanders
Whom did Chhatrapati Shivaji Maharaj As per the such as Dilir Khan, Rai Singh, Sujan Singh, and Daud
P ! . ) Aurangzeb Shah Jahan Akbar . p_ 8 R JA &
22 defeat at the Battle of Purandar, which Jahangir candidate Khan. Mughal forces led by Jai Singh captured the Bonus

resulted in the Treaty of Purandar in 1665?

question is wrong

Purandhar Fort. This battle resulted in signing of the
Treaty of Purandhar between Chhatrapati Shivaji and
Jai Singh. Treaty of Purandhar was signed between
between the peshwa (chief minister) of the Maratha
people and the supreme government of the British
East India Company in Calcutta.
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Sambhaji was the son of Shivaji and his first wife,
Saibai.He was the edlest son of Shivaji Maharaj.He was
23 Who was the second Chhatrapati of the Marafpati Pratapsingh N Shahu Maharaj Rajaram Sambhaji Choice D i ) ) D
the second Chhatrapati and ruler of the Maratha
Empire
British subjects in 1873 had been exempted from trial
by Indian magistrates, and in cases involving death or
transportation they could only be tried by a high court.
But by 1883 the viceroy, Lord Ripon, proposed to make
British subjects amenable to sessions courts, over
Which British viceroy's measures, like as the Lord Irwin Lord Curzon As per the which Indians were now senior enough in the civil
24 llbert Bill, sparked massive demonstrations Lord Minto Lord Ripon candidate service to preside. This proposal as embodied in the C
across India, especially in Maharashtra? question is wrong |llbert Bill provoked furious protests, especially among
the Calcutta (Kolkata) European business community
and the Bengal indigo planters, and there was covert
sympathy from many officials. A compromise was
reached by which a British subject could claim a jury,
half of which would be Europeans.
As per the The Western Ghats, also known as the Sahyadri Hills,
Which mountain range is called Sahyadri in Aravalli range Satpura Range
26 g ¥ Western Ghats g P g Vindhya Range candidate are well known for their rich and unique assemblage of A
northern Maharashtra? L
question is wrong[flora and fauna.
. . . . As per the
)8 What is the plr|mary crop ffarmed in Cashew Sugarcane Wheat Rice candidate D is D
Maharashtra's Konkan region? K
correct option
Which well-known Maharashtrian cave . As per the X X
X : . Karla Caves Elephanta Caves Ajanta Caves X . |Ellora and Ajanta are both the correct options;
33 complex is renowned for its Buddhist rock Ellora Caves candidate qus. is o Bonus
X therefore, the question is wrong.
carvings? wrong
In the recent past, the Supreme Court of India had
refused to entertain a petition seeking orders for
Which among the Indian state has a West Bengal As per the issuing specific directions to prepare norms for
40 Legislative Council in addition to the Maharashtra Rajastha € Uttrakhand candidate qus. is |nominations of Maharashtra Legislative Council by the A
Legislative Assembly? wrong state governor. Similarly, the West Bengal Assembly

had also passed a resolution, with a two-thirds
majority, to set up a Legislative Council in the state.
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Chief Minister of
Who appoints the Governor of a state in Speaker of the the respective Prime Minister As per the
41 R pp P P President of India | candidate correct |The Governor is appointed by the President of India. D
India? Lok Sabha state )
answeris C
Finance Planning As per the
Which body is responsible for conductin Central Vigilance Election
45 R X v . P 8 Ag R Commission Commission . candidate D
elections in India Commission Commission L
question is wrong
Primary activities are directly dependent on the
. environment as these refer to utilisation of earth’s
. N ) . Information As per the ) o
Which of the following is a primary sector Banking . X resources such as land, water, vegetation, building
49 L Real Estate Technology Farming candidate correct R R R X D
activity? R materials and minerals. It, thus includes hunting and
answeris C . o -
gathering, pastoral activities, fishing, forestry,
agriculture, and mining and quarrying.
The Sustainable Development Goals (SDGs), also
Which international agency is in charge of World Health International World Bank As per the known as the Global Goals, were adopted by the
58 establishing targets for reducing global Oreanization Monetary Fund United Nations |candidate correct |[United Nations in 2015 as a universal call to action to D
poverty? & answer is C end poverty, protect the planet, and ensure that by
2030 all people enjoy peace and prosperity.
Justice Justice Ranjan Justice Sharad As per the The current and 50th Chief Justice is Justice
Who is the Chief Justice of India as of Justice Dipak
81 Dhananjaya Y. Gogoi Bobde Rk P candidate Dhananjaya Y. Chandrachud, who entered office on 9 A
September 2023? Misra .
Chandrachud question is wrong |November 2022.
National Finance Plannin As per the
Which constitutional body is responsible for o o Election . g pA —_ .
86 X X . X Commission for Commission L. Commission candidate Question is repeated in the same set C
conducting elections in India Commission .
Scheduled Castes question is wrong
Chlorination is one of many methods that can be used
. to disinfect water. This method was first used over a
Which of the common method of water Mixing with fruit | Filtering through As per the century ago, and is still used today. It is a chemical
92 purification used to make drinking water Chlorification Adding Sugar & & 8 candidate D is ¥ 380, v A

safe?

juice

cloth

correct option

disinfection method that uses various types of chlorine
or chlorine-containing substances for the oxidation and
disinfection of what will be the potable water source.
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The following states have made legal provision for 50%
In Maharashtra. what is the reservation of As per the reservation for women among members and
83 seats for wome,n 1 panchavats? 1/4th 1/2nd 1/3rd 1/5th candidate correct [Sarpanches: Andhra Pradesh, Bihar, Chhattisgarh, B
P yats: answer is B Jharkhand, Kerala, Maharashtra, Orissa, Rajasthan,

Tripura and Uttarakhand
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We have asked the question on war, not on battle. As
per ques, B is the correct choice. 1817 to 1819 The
Third Anglo-Maratha War was fought between the
A th British East India C d the Maratha Empire i
When did third Anglo-Maratha War take _s per the ri A|s ast India Company and the Maratha Empire in
16 lace? 1816-1818 1817-1819 1817-1818 18116-1817 candidate correct [India. The war lasted from 1817 to 1819 and was the B
P ’ answer is b final and decisive conflict between the two powers.
The war left the Company in control of most of India.
The battles took place for eight months, from
November 1817 to January 1818
Lack in Lime, potash, calcium carbonate, and magnesium are
Which of the following is not a characteristic . . High moisture- pA R L g
32 R Clay-like texture | Black in colour . X Phosphorus and all readily available, while nitrogen and phosphorus are D
of black soil? holding capacity X
humus in short supply.
. The President of India appoints the Judges of the
President on K R R
. R . Supreme Court and the Chief Justice of India as per
. " X - President on advice of President on As per the i R L X .
Who appoints the Additional judge in High . . X X . - R . Article 124(2) of the Indian Constitution. This selection
44 President of India| advise of Prime | National Judicial advice of candidate correct |, R K . C
court? minister Appointment Attorney General answer is a is done on the advice of the Union Law Minister to the
PP L v PM of India, and then the Prime Minister advises the
Commision K
President.
More than 1 correct options are making it a wrong
X question. According to Article 178 of the Indian
- X L Option b & C o , o
The presiding officer of the state legislative . T Constitution, each State's Legislative Assembly must
48 K Governor Chairman Speaker Cheif Minister | same correct ans . K Bonus
assembly is A: is C appoint one of its members as Spreaker. Spreaker,
Deputy Speaker, Chairman and Deputy Chairman etc
are Presiding officers of state legislature.
The country registered a significant decline of 9.89
As per the percentage points in India’s multidimensionally poor
57 Poverty rate in rural areas in India is about : 12% 15% 23% 19% candidate correct |from 24.85% in 2015-16 to 15 % in 2019-2021. The B
answer is d rural areas witnessed the fastest decline in poverty,

from 32.59% to 19.28%
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As per the The question is asking about the PM appointed in the
Who is appointed as the PM of Nepal in . Bidya Devi . Sher Bahadur p‘ q & i PP L
6 Sita Dahal R KP Sharma Oli candidate year 2022, and acc to the question correct option is Bonus
2022? Bhandari Deuba L .
question is wrong |missing.
As per the
Which Maharashtrian city witnessed the
14 ¥ Mumbai Pune Nagpur Solapur candidate Question is wrongly phrased. It was flag satyagraha. Bonus
mass Satyagraha movement? L
question is wrong
The Moon’s phases repeat every 29.5 days, but it’s
As per the orbit around the Earth only takes 27. Why? In that
The moon takes how many days around the i P time, as our Moon moves around Earth, the Earth also
58 X 15 days 30 days 29 days 27 days candidate correct X D
earth to revolve approximately? answer is ¢ moves around the Sun. Our Moon must travel a little
farther in its path to make up for the added distance
and complete its phase cycle.
According to Article 80 of the Indian Constitution, out
How many members are nominated by the As per the of the 250 members of the Rajya Sabha, 12 are
76 President to the Lok Sabha and the Rajya 16 18 12 14 candidate correct |nominated by the President of India.,According to C
Sabha in total? answer is c Article 331 of the Indian Constitution, out of the 530
members of the Lok Sabha.
i . Installation of Appoinment of . . . . . . .
Which of the following does not make up an R . X Registration of [ Disquallifying the . Appoinment of election Commissioner does not make
84 electronic voting election > . Choice 1 B
electoral reform component? . o Political parties offenders up an electoral reform component
machines Commissioner
The antennae of insects are sensory organs that are
located near the front of their head capsule 1. They are
paired, mobile, and segmented, and are made up of
one or more jointed segments 1. While they are
. . . . typically sensory organs, the exact nature of what they
What is the primary function of antennae in
94 P ¥ Hearing Smelling Walking Seeing Choice 2 sense and how they sense it is not the same in all B

insects?

groups 1. The primary function of antennae is to sense

the environment around them, and they are equipped

with a wide variety of sensilla that can detect touch, air
motion, heat, vibration (sound), and especially smell or
taste
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As per the
Which state of India has achieved Open
8 . P Uttar Pradesh Kerala Andhra Pradesh | Madhya Pradesh |candidate correct [UP and kerala both are correct Bonus mark
Defecation Free (ODF) status? .
answeris b
As per the
On which date did Chandrayaan 3 land on candidate correct [Chandrayaan 3 landed on moon on 23rd aug, the
10 15-Jul-2023 16-Jul-2023 14-Jul-2023 18-Jul-2023 . X Bonus mark
moon? answeris not |options are wrong
available
As per the
Which Maharashtra-based social reformer Subhas Chandra
20 , . Jyotirao Phule Savitribai Phule | Jawaharlal Nehru candidate correct [Answer A & B is correct Bonus mark
advocated women's education and welfare? Bose i
answer is a
) ) ) B . - As per the N ) ) )
What was the pivotal event associated with Quit India Jallianwala Bagh Chauri Chaura . Mahatma Gandhi's Dandi March was associated with
21 . . Salt Satyagraha R candidate correct A
Mahatma Gandhi's Dandi March? Movement Massacre Incident R Salt satyagrah
answer is d
As per the The correct option is B 18. The minimum voting age in
What is the minimum voting age for Indian
46 " X R . € ag 18 years 25 years 21 years 16 years candidate correct [our country is 18. Every citizen who is at or above the A
citizens in national elections? . R
answer is ¢ age of 18 has the right to vote.
Public sectors include the public goods and
Which sector of society includes services Agricultural As per the governmental services such as the military, law
59 related to education, healthcare, and social Public Sector Industrial Sector Service Sector gSector candidate correct |enforcement, infrastructure, public transit, public A
welfare? answer is ¢ education, along with health care and those working
for the government itself, such as elected officials.
As per the As greenhouse gas emissions blanket the Earth, the
Which environmental condition is the result . . . . . . . P 8 ) & . ) v
62 . L Deforestation Air pollution Climate Forcing | Water pollution [candidate correct [trap the sun's heat. This leads to global warming and C
of excessive emissions of greenhouse gases? R X
answer is a climate change.
As per the Within a century of this book’s publication, we had
Which of the following animals in not found Malabar Giant e X . : i P indeed killed them all; the last Asiatic cheetah, the
68 . X Asiatic Cheetah Barking Deer | Small Indian Civet |candidate correct R . X B
in Maharashtra? Squirrel R lesser-known cousin of its more famous African
answer is a
counterpar
The declared forest area of the state at the end of
As per the March 2022, was 61,907.08sqkm which was about 20%
The declared forest area of Maharashtra in
70 2022 was: 33.00% 10.00% 20.00% 5.00% candidate this |of geographical area of the state, while over 16.5% was C
’ qus is wrong |the actual forest cover as against the goal of 33%
envisaged in the National Forest Policy.
How many divisions does Maharashtra have As per the Question is wrong as administrative word is missing in
76 v 2 4 6 8 candidate 8 8 Bonus mark

for governance purpose?

question is wrong

the question

Page 7




MPSC Set No. 5

Objected
Nature of Correct
Question Objected Question Choice A Choice B Choice C Choice D L Explanation
Objection Answer
Number
As per the Aurangabad division (76 talukas) and fewer Talukas is
Which of the following is the largest regional
79 L . & g g Vidarbha Marathwada Konkan Khandesh candidate correct |in Konkan region (50 talukas). There are 5 regional A
division area-wise in Maharashtra? ) o ]
answer is b divisions namely Vidarbha (97,404 km2),
. ) . ; As per the - L
Which of the following animal is a cold- . . Frogs, salamanders, and caecilians Amphibians are
89 Dolphin Dog Kangaroo Frog candidate correct D
blooded vertebrate? answer is a vertebrates, so they have a bony skeleton.
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The Lok Sabha is composed of representatives of
As per the people chosen by direct election on the basis of
What is the maximum strength of the Lok 543 552 545 X P Universal Adult Suffrage. The Constitution of India
46 550 candidate correct | X A
Sabha (House of the People)? answer is ¢ allows for a maximum of 550 members in the House,
with 530 members representing the States and 20
representing the Union Territories.
As per the
candidate correct
Lord Warren . answer is -Lord [The correct answer is missing in the given options. The
. Lo X Lord Wellesley R Lord Cornwallis . R . . -
16 Who was the first governor general of india? Lord Canning Hastings William bentick [first governor-general of India was Lord William Bonus mark
but this answer is |Bentinck.
not given in
option
As per the
Which state in India is known as the "Land of Arunachal Assam Manipur candidate correct . .
30 . N Meghalaya R All the options are correct, hence the question is wrong| Bonus mark
Seven Sisters"? Pradesh option not
available
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Choice D
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Explanation

Correct
Answer

65

What is the term for gradual increase in
Earth's average temperature due to human

activities?

Global Warming

Ozone Depletion

Climate Change

Acid Rain

As per the
candidate correct
answeris a

Global temperature rise from 1880 to 2022. Higher-
than-normal temperatures are shown in red and lower-
than-normal temperatures are shown in blue. Each
frame represents global temperature anomalies
(changes) averaged over the five years previous to that
particular year. Credit: NASA Goddard Space Flight
Center/NASA Scientific Visualization Studio/NASA
Goddard Institute for Space Studies.

The terms “global warming” and “climate change” are
sometimes used interchangeably, but "global warming"
is only one aspect of climate change.

“Global warming” refers to the long-term warming of
the planet. Global temperature shows a well-
documented rise since the early 20th century and most
notably since the late 1970s. Worldwide since 1880,
the average surface temperature has risen about 1°C
(about 2°F), relative to the mid-20th century baseline
(of 1951-1980). This is on top of about an additional
0.15°C of warming from between 1750 and 1880.

“Climate change” encompasses global warming, but
refers to the broader range of changes that are
happening to our planet. These include rising sea
levels; shrinking mountain glaciers; accelerating ice
melt in Greenland, Antarctica and the Arctic; and shifts
in flower/plant blooming times. These are all
consequences of warming, which is caused mainly by
people burning fossil fuels and putting out heat-
trapping gases into the air.

66

Which of the following is an endangered

species?

House cat

Kiwi

Sparrow

European Rabbit

As per the
candidate correct
answer is d

Oryctolagus cuniculus (European Rabbit) is a species of
mammals in the family Leporidae. They are listed as
endangered by IUCN.
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Renewable energy has gained significant momentum in
countries around the world as a sustainable alternative
Asperthe |, ¢ ol fuels. s tries h d i
o fossil fuels. Some countries have made progress in
Which country is the largest producer of X Germany United States candidate . prog
6 . India Iceland K R generating renewable energy. Iceland leads the way Bonus
renewable energy in the world? multipal option . X X .
. with an impressive 86.87% of its energy generated
is correct
from renewable sources. Norway follows closely at
71.56%, while Sweden stands at 50.92%.
Which 17th-century saint was also known as As per the Question is wrong insted of 17th century it should be
20 ¥ Eknath Tukaram Dnyaneshwar Namdev candidate correct g ¥ Bonus
Jnandeva? R 12th century
answer is B
Ecosystem diversity deals with the variations in
ecosystems within a geographical location and its
What is the term for the variety of . . X . . Ecosystem As per the i R Ee0g p
. . X N . Biodiversity Species Diversity . . . overall impact on human existence and the
69 ecosystems within a given region or Genetic Diversity Diversity candidate correct X K R B
. R environment. Ecosystem diversity addresses the
geographical area? answer is b K o L R
combined characteristics of biotic properties and
abiotic properties
As per the
In Maharashtra, what is the term used for . . . - pA Marathi translation is wrong
84 ; . Collector Chief Officer President Commissioner candidate . . . Bonus
the head of a Zilla Parishad? . given option TI'EUT‘ﬁ instead of &
question is wrong
Which law of motion states "For every Newton's Third Newton's First | Newton's Second As per the . . X
. . . \ . . For every action, there is an equal and opposite
99 action, there is an equal and opposite Law Kepler's Third Law Law Law candidate correct X . L R A
o . reaction. This is Newton's third law of motion
reaction"? answer is a
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